BEFORE THE POLLUTION CONTROL BOARD OF THE STATE OF ILLINOIS

DERSCH ENERGIES, INC.,)	
Petitioner,)	
v.)	PCB 2017-003
)	(LUST Permit Appeal)
ILLINOIS ENVIRONMENTAL)	
PROTECTION AGENCY,)	
Respondent.)	

NOTICE OF FILING AND PROOF OF SERVICE

TO:	Carol Webb, Hearing Officer	Melanie Jarvis
	Illinois Pollution Control Board	Division of Legal Counsel
	1021 N. Grand Avenue East	1021 North Grand Avenue East
	P.O. Box 19274	P.O. Box 19276
	Springfield, IL 62794-9274	Springfield, IL 62794-9276
	(carol.webb@illinois.gov)	(melanie.jarvis@illinois.gov)

PLEASE TAKE NOTICE that I have today electronically filed with the Office of the Clerk of the Illinois Pollution Control Board, a Certification of Petioner's Hearing Exhibits, a copy of which is herewith served upon the above parties of record in this cause.

The undersigned hereby certifies that I served the aforementioned document by e-mail to each of the persons listed above at the above e-mail address on the 17th day of September, 2021, and the number of pages in the e-mail transmission are 11.

DERSCH ENERGIES, INC.,

BY: LAW OFFICE OF PATRICK D. SHAW

BY: /s/ Patrick D. Shaw

Patrick D. Shaw Law Office of Patrick D. Shaw 80 Bellerive Road Springfield, IL 62704 217-299-8484 pdshawllaw@gmail.com

BEFORE THE POLLUTION CONTROL BOARD OF THE STATE OF ILLINOIS

DERSCH ENERGIES, INC.,)	
Petitioner,)	
v.)	PCB 2017-003
)	(LUST Permit Appeal)
ILLINOIS ENVIRONMENTAL)	
PROTECTION AGENCY,)	
Respondent.)	

CERTIFICATION OF PETITIONER'S HEARING EXHIBITS

Pursuant to 35 Ill. Adm Code § 101.627, the following exhibits were offered for admission at the hearing in this matter and are filed herewith:

Petitioner's Exhibit 1 R.083 - R.089

Petitioner's Exhibit 2 R.023 - R.024

I, Patrick D. Shaw, certify that each hearing exhibit filed herein is an accurate reproduction of the corresponding exhibit offered at the hearing.

BY: /s/ Patrick D. Shaw

Patrick D. Shaw Law Office of Patrick D. Shaw 80 Bellerive Road Springfield, IL 62704 217-299-8484 pdshawllaw@gmail.com

Consulting Personnel Costs Form

(Employee Name		Personnel Title	Hours	Rate* (\$)	Total Cost
	Remediation Category		Task			
		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	Senior Project Manager	6.00	121.49	\$728.94
	CCAP	Corrective Actio	n Plan Development and Technica	al Compliance		
			Senior Prof. Engineer	4.00	157.94	\$631.76
	CCAP	Corrective Actio	n Plan Review and Certification		****	
			Professional Geologist	30.00	111.76	\$3,352.80
į	CCAP	Corrective Action	n Plan Design and Preparation			
			Draftperson/CAD IV	6.00	66.81	\$400.86
(CCAP	Drafting for Con	rective Action Plan			
			Senior Admin. Assistant	3.00	54.67	\$164.01
	CCAP	Corrective Action	n Plan Compilation, Assembly and	d Distribution		
			Engineer III	4.00	121.49	\$485.96
	CCAP	Corrective Action	on Plan Development			
			· · · · · · · · · · · · · · · · · · ·			

PETITIONER'S EXHIBIT

Employee Name		Personnel Title	Hours	Rate* (\$)	Total Cost
Remediation Category		Task			
		Senior Project Manager	4.00	121.49	\$485.9
CCAP-Budget	Corrective Actio	n Budget Development and Tech	nical Compliance		
		Senior Prof. Engineer	2.00	157.94	\$315.8
CCAP-Budget	Corrective Action	n Budget Review and Certification	1		
		Professional Geologist	10.00	111.76	\$1,117.6
CCAP-Budget	Corrective Actio	n Budget Design, Calculations an	d Inputs		
		Engineer III	4.00	121.49	\$485.
CCAP-Budget	Corrective Actio	n Budget Development			
		Senior Admin, Assistant	2.00	54.67	\$109.
CCAP-Budget	Corrective Actio	n Budget Compilation			
	1 100				
		<u> </u>	_L		L

L	Employee Name		Personnel Title	Hours	Rate* (\$)	Total Cost		
	Remediation Category		Task					
		Note 1		1				
L			Senior Project Manager	6.00	121.49	\$728.9		
L	CCA-Field	Coordination / T	echnical Compliance / Oversight					
			Senior Admin. Assistant	4.00	54.67	\$218.6		
	CCA-Field	Project arranger	nents / JULIE					
	· .		Professional Geologist	12.00	111.76	\$1,341.1		
	CCA-Field	On-site Drilling f	or TACO sampling / GW Measure	ements / Slug tes	ting			
ſ			Engineer III	12.00	121,49	\$1,457.8		
	CCA-Field	On-site Drilling, Testing & Measuring Oversight						
ſ			Senior Project Manager	4.00	121.49	\$485.9		
	CCA-Field	Boring Log/Anal	lytical Review/Corrective Action E	valuation				
ſ			Senior Draftperson/CAD	4.00	72.88	\$291.5		
	CCA-Field	Drafting Location	ns/Drilling Prep.					
ſ			Engineer I	4.00	91.11	\$364.4		
	CCA-Field	Boring Logs/An	alytical Tabulation					
ſ				T				
				<u> </u>		1		
ł		1	1		<u> </u>			

(

Employee Name	•	Personnel Title	Hours	Rate* (\$)	Total Cost
Remediation Category		Task			
		Senior Project Manager	6.00	121.49	\$728.94
TACO 2 or 3	Contaminant Tra	ansport Modeling / Oversight / Tech	unical Compliand	e	
i i i i i i i i i i i i i i i i i i i		Professional Geologist	20.00	111.76	\$2,235.20
TACO 2 or 3	Preliminary Con	taminant Transport Modeling & TA	CO Calculations		
			· · · · · · · · · · · · · · · · · · ·		
in the state of th					
\					
			J		
					ı
		1	<u> </u>		
				1	
	TACO 2 or 3 TACO 2 or 3	TACO 2 or 3 TACO 2 or 3 Preliminary Con	Remediation Category Task Senior Project Manager TACO 2 or 3 Contaminant Transport Modeling / Oversight / Tech Professional Geologist TACO 2 or 3 Preliminary Contaminant Transport Modeling & TACO 2 or 3	Remediation Category Task Senior Project Manager 6.00 TACO 2 or 3 Contaminant Transport Modeling / Oversight / Technical Compliance Professional Geologist 20.00 TACO 2 or 3 Preliminary Contaminant Transport Modeling & TACO Calculations	Remediation Category Task Senior Project Manager 6.00 121.49 TACO 2 or 3 Contaminant Transport Modeling / Oversight / Technical Compliance Professional Geologist 20.00 111.76 TACO 2 or 3 Preliminary Contaminant Transport Modeling & TACO Calculations

Employee Name		Personnel Title	Hours	Rate* (\$)	Total Cost
Remediation Category		Task			
		<u> </u>	<u></u>		
	<u>.</u>	Senior Project Manager	14.00	121.49	\$1,700.8
CA-Pay	Corrective Action	n Reimbursement Development /	Review / Coordin	ation / Oversight	(2 Packages)
1975 1975		Senior Prof. Engineer	5,00	157.94	\$789.7
CA-Pay	Corrective Action	n Reimbursement Certification (2	Packages)		
		Senior Acct. Technician	24.00	66,81	\$1,603.4
CA-Pay	Corrective Actio	n Reimbursement Preparation, Ca	alculations and In	puts (2 Package	s)
		Senior Admin. Assistant	4.00	54.67	\$218.6
CA-Pay	Corrective Actio	n Reimbursement Compliation, A	ssembly and Dist	ribution (2 Packa	ges)
				······································	······································
*Refer to the applicable Maximun	n Payment Amo			· · · · · · · · · · · · · · · · · · ·	
ì		Total of Consult	ing Personnel	Costs	\$20,444.4

Consultant's Materials Costs Form

Materials, Equipment	or Field Purchase	Time or Amount Used	Rate (\$)	Unit	Total Cost
Remediation Category		Description/J	lustification		
PID Rental		1.00	148.00	/day	\$148.00
CCA-Field	To detect VOC levels in s	oil samples			
Measuring Wheel		1.00	21.00	/day	\$21.00
CCA-Field	Mapping sampling location	ns	_		
Disposable Gloves		1.00	16.00	/box	\$16.00
CCA-Field	Disposable gloves for soi	I sampling			
Water Level Indicator		1.00	28.00	/day	\$28.00
CCA-Field	Measuring Groundwater	Depths			
Slug		1.00	36.00	/day	\$36.0
CCA-Field	Slug to Conduct Slug Tes	st .			
Mileage		310.00	.65	/day	\$201.5
CCA-Field	One round trip from Sprir	ngfield Office for Drilli	ng		
Copies		100.00	.15	/each	\$15.0
CCA-Field	Field/Plan/Maps/Borelog	S			
Copies		800.00	.15	/each	\$120.0
CCAP	Copies of Corrective Acti	ion Plan / Draft / Forr	ns		
Postage		2.00	6.00	/each	\$12.0
CCAP	Distribution of Corrective	_ 			*

Materials, Equipment	or Field Purchase	Time or Amount Used	Rate (\$)	Unit	Total Cost
Remediation Category		Description/	lustification		
Copies		200.00	.15	/each	\$30.0
CCAP-Budget	Copies of Corrective Acti	ion Budget		· · · · · · · · · · · · · · · · · · ·	
Postage		2.00	6.00	/each	\$12.0
CCAP-Budget	Distribution of Corrective				
Copies		1,000.00	.15	/each	\$150.0
CA-Pay	Copies of Corrective Act				
Postage		6.00	6.00	/each	\$36.0
CA-Pay	Distribution of Corrective	Action Reimburseme	ent Package/ Dr	afts / Forms	
			•		
		-			
		· .	· · · · · · · · · · · · · · · · · · ·		
			 		
				L	
	٢				
		Total of Consultar	nt Materials Co	sts	\$825



Groundwater Sampling, Soil Sampling, Air Monitoring, Equipment Rentals Rates

Page 2 of 2

Enviro-Tech Services

Schonstedt MAC 518 Pipeline Locator	75,00	225.00	675.00
Noise Oosimeter: Casella dBadge350	45.00	135.00	405.00
Flowmeter: Global Water FP101: 3' to 6' extendable	30.00	100.00	300.00
Anemometer: VelociCalc 9545A	50.00	90.00	230.00
Rotary Hammer Orill: Bosch/Dewalt	50.00	150.00	450.00
Honda EU2000 Generator (2000w)	60.00	180.00	540,00
GVP Kit ; Soll Vapor(Vedose Zone Sampling) -w/ Removal Jack & Hammer Ortli	200.00	600.00	1800,00

Click here to view our Rental Terms and Conditions

home | products/rentals | search | checkout | contact